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Q. No. Question

1. Factor analysis refers to
(A) A type of method of explaining data in a sequential order
(B) A type of tool of arranging the data in a descending order
(C) A class of procedures used for data reduction
(D) A class of procedures used for data clustering

2. What is a Tourism Satellite Account?
(A) A setof international accounts that involves expenditures by tourists
(B) A sub-set of a nation's accounts that measures tourism supply
(C) A sub-set of a nation's accounts that involves expenditures by tourists
(D) A sub-set of a nation's accounts that measures tourism demand

3. Type-I Error occurs if
(A) The null hypothesis is rejected even though it is true
(B) The null hypothesis is accepted even though it is false
(C) Both the null hypothesis as well as alternative hypothesis are rejected
(D) None of the above

4. Survey research studies

(A) Circumstances (B) Populations
(C) Processes (D) Events

5. The term ‘Controlled Group’ is used in which of the following type of research?
(A) Experimental research (B) Descriptive research
(C) Historical research (D) Survey research

6. ... testing is used for directional hypothesis
(A) Three tailed (B) Two tailed
(C) One tailed (D) None

7. TheF-test......

(A) isatwo-tailed test

(B) isaone-tailed test.

(C) can be one-tailed as well as two-tailed depending on the hypotheses.
(D) does not have a tail

8. Eurico, S., Oliveira, F., & Hoefnagels, H. (2014). AN ETHIC CODE FOR EUROPEAN HOTELS:
European Journal of Tourism, Hospitality and Recreation, 5(3), 11-31. This citation is written in which
style

(A) MLA- Modern language association

(B) APA- American Psychological Association
(C) Harvard style

(D) None of the above

9. research is to find a solution for an immediate problem
(A) Applied (B) Fundamental
(C) Descriptive (D) Analytical
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is a method of sampling from a population which can be partitioned in sub-populations

(A) Purposive (B) Judgement
(C) Stratified (D) Random
Empirical research relies on
(A) Experience (B) Observation
(C) BothA&B (D) Neither A nor B
The ‘Development’ stage in TALC is co-related with which aspect of Irridex index?
(A) Antagonism (B) Apathy
(C) Annoyance (D) Euphoria

Which is the correct meaning of non-parametric test
(A) Itisahypothesis testing procedures to measure variable on a nominal scale.
(B) Itis a test of hypothesis to measure variables collected in an interval scale.
(C) Itisameasurement of variables with the help of a ratio scale.
(D) Itisamethod of testing hypothesis with staple scale.

The eigen value is calculated to find the
(A) The total variance explained by each
(B) The reduction of data explained by each factor
(C) The summarization of data explained by each factor
(D) The factor loadings of all the variables on all the factors extracted

Which of the following two permissible statistical tools used when opinions are collected in nominal
scale?

(A) ANOVA & Regression (B) Chi-square & Binomial test
(C) Friedman & Correlation (D) E-test & Z-test

Which one of the following is not a non-parametric?
(A) ‘t’-Test (B) Mann-Whitney ‘U’ Test
(C) Chi-square Test (D) K-S Two Sample Test

Assertion (A): Motivation in research is desire to get a research degree along with its consequential
benefits.
Reason (R): Research relies on experience or observation alone.

(A) Both (A) and (R) are true and (R) is the correct explanation.

(B) Both (A) and (R) are true, but (R) is not the correct explanation.

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true

Deductive research is one that helps in
(A) drawing inference from a general principle to a particular conclusion
(B) drawing from the evidence in the form of conclusion
(C) drawing conclusion on the basis of tentative facts
(D) deriving variables based on observation
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Cross-sectional research design is described as

(A) A type of research design used to gather data from the entire population more than once.

(B) A type of research design applied to assimilation of data from an identified population fre-
quency.

(C) A type of research design involved to collect information from a small sample in two succes-
sive times.

(D) A type of research design involving the collection of information from any given sample pop-
ulation elements only once.

In 1975 the Irritation Index Theory was presented by

(A) Butler, RW (B) Doxey, GV
(C) Roxy,D.C (D) Jaffri, J
Data when organised in a meaningful way, the results are called
(A) A database (B) Information
(C) Artificial intelligence (D) An expert system

Experimental type of research is carried out when

(i) the problem clarity is very high.

(ii) the problem clarity is comparatively moderate.

(iii) the casual relationships between variables are investigated rigorously.
(iv) the problem clarity is low.

(A) (i) and (i) are correct. (B) (i) and (iii) are correct.
(C) (iii) and (iv) are correct. (D) (i) and (iv) are correct.
The research problem can never be classified as
(A) Simple and complex (B) Well defined and ill-defined
(C) Tame and wicked (D) Soft system and creative

is the tendency to twist information into personal meaning and interpret information in a way
that fit our preconceptions.
(A) Selective attention (B) Selective retention
(C) Selective distortion (D) Selective hearing

Which of the following two permissible statistical tools are used when Opinions are collected in
nominal scale?

(A) ANOVA & Regression (B) Chi-square & Binomial test

(C) Friedman & Correlation (D) E-test & Z-test

A key reform is the new GST rate of % on all aircraft components and engines, effective July 15,
2024.

(A) 18 B) 5

© 9 (D) 10

A grill room or Rétisserie is a
(A) Restaurant, the entire atmosphere and décor is geared to a particular theme
(B) Restaurant that specializes in grills of different meats, fish and poultry
(C) Restaurant found in smaller hotels, motels resorts, inns, clubs or heritage hotels
(D) Restaurant concept borrowed from United States, distinguished by its quick service
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-UDAN is scheme initiated by Ministry of Civil Aviation in order to facilitate / stimulate
regional air connectivity by making it affordable.
(A) State Connectivity Scheme (B) Regional Connectivity Scheme
(C) Village Connectivity Scheme (D) City Connectivity Scheme

As per the 3rd Tourism Satellite Account (TSA), the study conducted by Ministry of Tourism, estimated
share of tourism jobs in India during 2020-21 is

(A) 12.91% (B) 13.91%

(C) 14.91% (D) 15.91%

Ministry of Housing & Urban Affairs launched (HRIDAY) National Heritage City Development and
Augmentation Yojana which aims to
i- Local capacity enhancement for inclusive heritage-based industry.

ii-Create effective linkages between tourism and cultural facilities and also the conservation of natural
and built heritage.

iii-Service delivery and infrastructure provisioning in historic city core areas.

iv- Making cities informative with use of modern ICT tools.

(A) ,iii,iv B) i,ii,iii,iv
(©) v, (D) ii,iii,iv
The Cruise Shipping Policy of the Ministry of Shipping was approved by the Government of India on
(A) 26th June, 2008 (B) 26th June, 2009
(C) 26th June, 2018 (D) 26th June, 2019
What is equivalent of one nautical mile, used in aviation and shipping?
(A) 1.852km (B) 1.610 km
(C) 1.230km (D) 1.100 km

Which are the two famous tourist destinations that Thomas Cook used to conduct tour in India in the
last quarter of 19th century?

(A) Aurangabad and Darjeeling (B) Mahabalipuram and Ooty

(C) Agraand Gulmarg (D) Delhi and Jaipur

Which was the steamship company that Thomas Cook used for bringing British tourists to India in
1878 ?

(A) Royale Meridian (B) Star Cruise

(C) Royale Virgo (D) Peninsular & Oriental

Arrange the following peaks based on its altitude from low to high:
(A) Nanga Parbat, Annapurna, Mt. Everest, Kanchenjunga
(B) Mt. Everest, Kanchenjunga, Nanga Parbat, Annapurna
(C) Annapurna, Nanga Parbat, Kanchenjunga, Mt. Everest
(D) Annapurna, Kanchenjunga, Nanga Parbat, Mt. Everest

Arrange the following trains in the order in which they were started:

I. The Deccan Odyssey

I. Royal Rajasthan

[11. Palace on Wheels

IV. The Nilgiri Express

A) LI land IV B) IV, 1l Iland I
©) IV, Il Tand (D) IV, Il 1land |
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What is equivalent of one nautical mile, used in aviation and shipping?

(A) 1.852km (B) 1.610 km
(C) 1.230 km (D) 1.100 km
Arrange the following organisations in sequence according to the year of establishment:
(A) ITDC, IATO, TAAI (B) IATO, ITDC, TAAI
(C) TAALITDC, IATO (D) ITDC, TAAIL IATO

How many State Governments / UT Administrations have deployed tourist police in one form or the
other?

(A) 8 B) 9

(©) 13 (D) 15

E-Visa facility with Electronic Travel Authorization (ETA), is presently available to nationals of how
many countries?

(A) 167 (B) 157
(C) 147 (D) 137
In which ancient text, we find mention about the regulations for foreign travelers?
(A) Kadambari (B) Arthashastra
(C) Kalpasutra (D) Malati madhava

Assertion (A): Some governments formulate a tourism policy to guide the development of a sustainable
tourism industry in its jurisdiction.

Reason (R): The tourism industry is guided by the contemporary global trends and not by tourism
policies framed by the governments.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

There are four types of International Tourism organisations. Identify the correct order in which they
were established

(A) ICAO, PATA, IATA, UFTAA (B) ICAOQ, IATA, PATA, UFTAA

(C) IATA, ICAO, PATA, UFTAA (D) UFTAA, ICAO, PATA, IATA
Mosi-oa-Tunya is a spectacular tourist spot. Select the English name of the spot

(A) Niagara Falls (B) Abbey Falls

(C) Jog Falls (D) Victoria Falls

We have different eras in the historical development of tourism. Arrange them in a chronological order.
(A) Grand tour era, Mobility era, Renaissance era
(B) Mobility era, Renaissance era, Grand tour era
(C) Grand tour era, Renaissance era, Mobility era
(D) Renaissance era, Grand tour era, Mobility era

Identify the following literary works in chronological order:
(A) Kadambari, Mudrarakshasa, Panchatantra, Indica
(B) Mudrarakshasa, Indica, Kadambari, Panchatantra
(C) Indica, Mudrarakshasa, Panchatantra, Kadambari
(D) Panchatantra, Indica, Kadambari, Mudrarakshasa
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Which one is the right method of calculating the local GMT time difference?
(A) Arrival time — departure time (B) Standard time — GMT surplus time
(C) Local time — GMT time difference (D) Local time difference — GMT time

Assertion (A): Policy and planning are complementary to each other in laying a solid foundation of
tourism development in any country.
Reason (R): Tourism planning is formulated for pro-poor tourism and pro-people tourism.
Codes:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

According to Getz and Hall, which one of the following is not a part of the Five approaches of tourism
planning at the destination level?

(A) Boosterism

(B) An economic, industry-oriented approach

(C) A cultural approach

(D) A sustainable approach

Which of these statements best describes a computer based information system?
(A) It consists of the data or information that people put into the system.
(B) It consists of the people, procedures and technology, a company uses to collect, transform and
distribute data and information.
(C) It consists of the hardware and the software which the company has acquired.
(D) It consists of the people and procedures who interact with the system.
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